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Directions: Answer all of the questions below. Be sure to show all of your work!

1) Which set of numbers could be the lengths of the sides of a right triangle?
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2) Determine the value of x in the triangle below.
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3) In the accompanying diagram of circle O, diameter AB s perpendicular to chord CD at E, CD=3§,and FE = 2.
What is the length of the diameter of circle 0?
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4) In the accompanying diagram, ABand AC are tangents to circle O, and chord BC'is drawn. If mZ4BC = 72, what
is ms47?
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5) In the diagram below of circle O, chords AD and BC intersect at £, mﬁ?= &7, and nié?ﬁ= 35. What is the degree
measure of L CFEA?
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6) In the diagram below, chords ABand CD intersect atE. If S ARC = 4, mﬁ_@= 120, and n@: 2%, what is the

value of x?
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7) The new corporate logo created by the design engineers at Magic Motors is shown in the accompanying diagram. If

chords B4 and BC are congruent and B = 140, what is m/B?
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8) In the accompanying diagram of circi'erO, the measure of RS is 642. What is ./ RTS?
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10) Given the circILe below with two secants, determine the value of x.

11) Given the circle with a tangent and a secant, determine the value of x.
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12) Given the circle below with two secants, determine the value of x.
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14) In the diagram below, the measure of arc BD is 50 degrees. Determine the measure of angles 1, 2, 3, 4, 5, and 6.
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15) In the diagram below, AC = AB. If the measure of arc BC is 100 degrees, what is the measure of ZAOB?
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16) Given the circle below with two intersecting chords, determine the value of x.
8(x+2) = 12(x)
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